
Find
the 

perimete 

of 
te 

Side= 5 cm 

5 cm 

Perimeter 
= AB + 

BC+ 

CA 

5+5+5 
B 5 cm Solution 

3x5 

15 cm 

EXERCISE 14(A) 

Find the perimeter of the figures 
given 

below. 6 cm 

(b) 
6 cm 

(a) 6 cm 
8 cm 

24-C 
6 cm 3 cm 

meroor 
8 1o 1080 

2- boovd d 
(c) 

2 cm 2 cm 
3 cm 6Cm 2 cm 

4 4 cm cm UAN2 cm 

.alpge019/eme ( olo babie e 

5 cm (e)

1 cm 9A P6 1 cm 

1 cm 1 cm 

B 5 cof one 5 cm 

(g) lg lo zbeesl lo lprar 4 cm 2 cm 

5 cm le f 16s 

2 cm 2 cm 

5 cm 

2 cm 

2 cm 
8+8A 191et 

2 cm 

2 cm 2 cm 

2 cm 

2 cm 

108 



5 

1 cm 
8 Cm 

1 Cm 

2 cm 2 cm 
6 cm 

4 cm 
4 

3 cm 

cm 1 cm SO 1 cm 

Find 
4 the perimeters of the squares with the following sides 

8 cm (b) 10 m 

36m bem (d) 12m 14 cm mc 9m 15 cm 

C 

Find t 
A the perimeters of the rectangles with the following dimensions 

length 7 cm; breadth = 3 cm 

D) length 6m; breadth =4 cm 

length 2 cm; breadth 1 cm 
120
6c P 

d) length= 10 m 3 cm; breadth 7 m 25 cm 34 56 
Find the perimerers of the following triangles if the length of each side of the triange 

is 

(a) 7 cm (b) 9m 27 
(c) 8m5 cmn (d) 11 m 10 cm 

Find the perimeters of the triangles with the following dimensions. 

21 ch 
21 vn 

1 ch 

(a) AB 8 cm; BC =6 cm; CA = 7 cm sb 

b) AB= 4 cm; BC =8 cm; CA = 9 cm 

(c AB 7 cm; BC 4-5 cm; CA = 3-5 cmn 

d) AB 12 m; BC =11 m; CA= 9m 7 cm 7 ch 

The length of a floor is 60 m and its breadth is 50 m. Find the perimeter of the floor. 

7 A lioth is 7 m long and 2 m wide. If Sheena wants to lace it around, how much lace is 

required ?6m 
A table top of wood is of length 150 m and breadth 120 m. What is its perimeter ?5t0 m 

Atiangular park has its sides of length 200m, 180 m and 120 m respectively. Calculate 
the distance travelled by a man it he goes around the park twice. 000 

10 Asquare shaped garden is of length 100 m. How much wire will be required for fencin9 

around it thrice? 200 
10 



2 Find the area of the shaded region. 
(a) (b) 1 m 

1 Cm 

E 

Area: m Area 

(c) (d) 1 cm 

1 m 

bn eelit s6up 

molit 
o B91810ol eri lo se 

Area: 6 n Area: b ch 



RCISE 14B) 

area of the following figures if each square has an area of 1 cm. 
Find 

the 
area 

of the 

upe to ptieia (b) (b) 

17s n Area: 25 cm 

(d) 
Area 

2 Cm Area 
Area: 6 cm 
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